In the slepe~intercept Fovm, Y=mx +b, s the

Chapter 4:
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Identify the slope and the y-intercept of the line, and use them to graph the line. ‘ lme and
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Use the slope formula to find the slope of the line that passes through the given points. Simplify, if
possible. 3 3
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To find the e—zwvtfm of a la'n-c.’

Find the equation of the line that passes through the
37. (0, 8) and (-6, -8)
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For each you are given the slope of a line and a point on the line. Use the information to find the y-
intercept, b, and write the equation of the line. I"a 2 q-qo” we are g Iven the Sepe, m
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